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1) Mohan walked 30 m towards South, took a left turn 
and walked 15 m. He, then took a right turn and walked 
20 m. He again took a right turn and walked 15 m. How 
far is the from the starting point? 
a) 95 m   b) 50 m 
c)  70 m   d) Cannot be determined 
e) None of these 
 
2) Ankit started walking towards North. After walking 
30 m, he turned towards left and walked 40 m. He, then 
turned left and walked 30 m. He again turned left and 
walked 50 m. How far is the from his original position? 
a) 40 m  b) 50 m  c) 30 m   
d) 10 m  e) 12 m 
 
3) Molly travelled from point A to point B which is 5 ft. 
He, then travelled 6 ft to his right and then turned to 
left and went 4 ft. Finally, he again went 6 ft to his left. 
How far is he from the point B now? 
a) 4 ft   b) 10 ft 
c) 6 ft   d) 5 ft 
 
4) Amol travels a distance of 10 ft from A to B. Then, he 
turns to left and travels 5 ft and again turns to left and 
travels 2 ft. Finally, he turns to left and moves 5 ft. How 
far is he now from his original position? 
a) 5 ft  b) 6 ft  c) 8 ft 
d) 12 ft  e) 10 ft 
 
5) Shyam walks 6 m towards East, then turns right and 
walks 9 m. Again, he turns to his left and walks 6 m. At 
what distance is he now from his original point? 
a) 15 m   b) 21 m 
c) 18 m   d) Cannot be determined 
e) None of these 
 
6) A man goes 5 km East from his office. He then takes 
left turn and walks 3 km. He again takes left turn and 
walks 5 km. How far is he starting point? 
a) 3 km  b) 4 km  c) 6 km   
d) 7 km  e) 8 km 
 

7)  John  travels  14  km  westwards  and  then  turns  left 
and travels 6 km and further turns left and travels 26 
km. How far is John now from the starting point? 
a) √180 km b) √80 km 
c) √100 km d) None of these 
 
8) Hari travelled 17 km to the East, he turned left and 
went 15 km, he again turned left and went 17 km. How 
far is he from the starting point? 
a) 32 km b) 17 km 
c) 2 km  d) 15 km 
 
9) Ram goes 15 m North, then turns right and walks 20 
m, then again turns right and walks 10 m, then again 
turns  right  and  walks  20  m.  How  far  is  he  from  his 
original position? 
a) 5 b) 10 c) 15 d) 20 e) 25 
 
10)  A and  B  both  are  walking  away  from  point  'X'. A 
walked 3 m and B walked 4 m from it, then A walked 4 
m North of X and B walked 5 m south of A. What is the 
distance between them now? 
a) 9.5 m b) 9 m  c) 16 m 
d) 11.40 m e) 10.40 m 
 
11) A boy rode his bicycle northwards, then turned left 
and rode one km and again turned left and rode 2 km. 
He found himself exactly one km west of his starting 
point. How far did he ride northwards initially? 
a) 1 km  b) 2 km  c) 5 km 
d) 8 km  e) 10 km 
 
12) A man leaves for his office from his house. He walks 
towards East. After moving a distance of 20 m, he turns 
South and walks 10 m. Then he walks 35 m towards the 
West and further 5 m towards the North. He then turns 
towards  East  and  walks  15  m.  What  is  the  straight 
distance (in metres) between his initial and final 
positions? 
a) 0  b) 5  
c) 15  d) Cannot be determined 
e) None of these 
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13)  A  man  walks  30  metres  towards  South.  Then, 
turning to his right, he walks 30 metres. Then, turning 
to his left, he walks 20 metres. Again, he turns to his 
left and walks 30 metres. How far is he from his initial 
position? 
a) 20 metres  b) 30 metres 
c) 50 metres  d) 60 metres 
e) 80 metres 
 
14)  Raj  travelled  from  a  point  X  straight  to  Y  at  a 
distance of 80 metres. He turned right and walked 50 
metres, then again turned right and walked 70 metres. 
Finally, he turned right and walked 50 metres. How far 
is he from the starting point? 
a) 10 metres  b) 20 metres 
c) 50 metres  d) 70 metres 
e) 90 metres 
 
15)  Two  houses  start  from  the  opposite  points  of  a 
main road, 150 km apart. The first bus runs for 25 km 
and takes a right turn and then runs for 14 km. It then 
turns  left  and  runs  for  another  25  km  and  takes  the 
direction back to reach the main road. In the 
meantime, due to a minor breakdown, the other bus 
has run only 35 km along the main road. What would 
be the distance between the two buses at this point? 
a) 65 km b) 75 km c) 80 km  
d) 85 km e) 90 km 
 
16) X and Y start moving towards each other from two 
places 200 m apart. After walking 60 m, Y turns left and 
goes 20 m, then he turns right and goes 40 m. He then 
turns right again and comes back to the road on which 
he had started walking. If X and Y walk with the same 
speed, what is the distance between then now? 
a) 20 m  b) 30 m 
c) 40 m  d) 50 m 
 
17) Distance between E and G is 
a) 1 km  b) 1.5 km 
c) 2 km  d) 5 km 

18) Distance between E and I is 
a) 1 km  b) 2 km 
c) 3 km  d) 4 km 
 
19) Distance between A and F is 
a) 1 km  b) 1.41 km 
c) 2 km  d) 3 km 
 
20) If a boy walks from Nitin, meets Atul followed by 
Kunal,  Dinesh  and  then  Prashant,  how  many  metres 
has he walked if he has travelled the straight distance 
all through? 
a) 155 metres  b) 185 metres 
c) 215 metres  d) 245 metres 
e) None of these 
 
21)  My  friend  and  I  started  simultaneously  towards 
each other from two places 100 m apart. After walking 
30 m, my friend turns left and goes 10m, then he turns 
right  and  goes  20  m  and  then  turns  right  again  and 
comes  back  to  the  road  on  which  he  had  started 
walking. If we walk with the same speed, what is the 
distance between us at this point of time ? 
a) 20 m  b) 40 m 
c) 50 m  d) 30 m 
 
22) A child is looking for his mother. He went 80 meters 
in  the  East  before  turning  to  his  right.  He  went  20 
meters  before  turning  to  his  right  again  to  trace  his 
mother at his married sister's house, 20 meters from 
this  point.  His  mother  was  not  there.  From  there  he 
went 100 meters to his north where he met his mother 
who was shopping there in the market. How far did the 
son meet from the starting point? 
a) 60 m  b) 140 m 
c) 80 m  d) 100 m 
 
23) A bus starts from point A and runs 20 kms towards 
South, turns to its right and runs 25 km. It then turns 
right again runs 20 km. Afterwards it runs 5 km in the 
East direction and reaches point B. How far is the bus 
from the starting point ? 
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a) 20 km b) 30 km 
c) 35 km d) 25 km 
 
24)  Ravi  starts  from  his  house  and  moves  towards 
south. He walks 100 m, then turns left and walks 200 
m,  turns  right  and  walks 500.  How  far  is  he  from  his 
house? 
a) 800 m b) 200√2 m 
c) 400√5 m d) 200√10 m 
e) None of these 
 
25) Rahul walks 30 metres towards south. Then turns 
to his right and starts walking straight till he completes 
another  30  metres.  Then  again  turning  to  his  left  he 
walks for 20 metres. He then turns to his left and walks 
for 30 metres. How far is he from his initial position? 
a) 30 metres  b) 60 metres 
c) 50 metres  d) 10 metres 
 
26) Rana travels 10km North, turns left and travels 4 
km and then again turns right and covers another 5 km. 
He then turns to right – hand side and travels another 
4  km.  How  far  is  he  from the  point of starting of  his 
journey? 
a) 4 km  b) 10 km 
c) 5 km  d) 15 km 
 
27) Kailash walks 3  kms to  East  and  turns  South  and 
walks 4 kms. Again turns West and walks 6 kms. How 
far is he from the starting point? 
a) 7 kms b) 5 kms 
c) 6 kms d) 3 kms 
 
28) M starts from his office and goes 15 km 
southwards,  he  then  proceeds  5  km  to  the  right.  He 
then travels 7 km to the left, again travels 7 km to the 
left and eventually goes 22 km towards left. Measure 
the distance between the final and starting point. 
a) 2 km  b) 4 km 
c) 3 km  d) 1 km 
 

29) Mohan travelled westward 5 kms., turned left and 
travelled 3 kms., turned right and travelled 9 kms. He 
then  travelled  north  3  kms.  How  far  he  is  from  the 
starting point ? 
a) 3 kms. b) 14 kms 
c) 5 kms. d) 6 kms. 
 
30) A man starts from a point and moves 9 km South 
and then turns to East and goes 3 km. He turns South 
and walks 3 km and then moves 8 km towards West. 
How far is he from the starting point ? 
a) 12 km  b) 13 km 
c) 15 km  d) 11 km 
 
31) Sanjeev walks 10 metres towards the South. 
Turning to the left, he walks 20 metres and then moves 
to his right. After moving a distance of 20 metres, he 
turns to the right and walks 20 metres. Finally, he turns 
to the right and moves a distance of 10 metres. How 
far and in which direction is he from the starting point? 
a) 20 meters South 
b) 10 metres South 
c) 10 metres North 
d) 20 metres North 
 
32) Deepak starts walking straight towards east. After 
walking 75 metres, he turns to the left and walks 25 
metres  straight.  Again  he  turns  to  the  left,  walks  a 
distance of 40 metres straight, again he turns to the left 
and walks a distance of 25 metres. How far is he from 
the starting point? 
a) 50 m  b) 140 m 
c) 35 m  d) 115 m 
 
33) A boy ride his bicycle northwards, then turned left 
and ride one km and again turned left and ride 2 km. 
He found himself exactly one km west of his starting 
point. How far did he ride northwards initially? 
a) 2 km  b) 5 km 
c) 1 km  d) 3 km 
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34)  Vivek  and  Ashok  start  from  a  fixed  point.  Vivek 
moves 3 km north and turns right and then covers 4 
km. Ashok moves 5 km west and turns right and walks 
3 km, Now how far are they apart ? 
a) 9 km  b) 6 km 
c) 10 km d) 8 km 
 
35.Ruhi  travels  10  km  towards  north,  turns  left  and 
travels  4  km  and  then  again  turns  right  and  covers 
another 5 km and turns right and travels another 4 km. 
How far is she from the starting point? 
a) 10 km 
b) 20 km 
c) 5 km 
d) 15 km 
 
36.Sunita travels 6 Km towards north east. Then travels 
9 Km towards west. From there, she goes 6 Km 
southwest and finally goes 3 Km towards east. How far 
is she from her initial position? 
a) 6 km. 
b) 12 km 
c) 3 km. 
d) 9 km. 
 
37.Rama  walked  10  kms  south  and  turned  right  and 
walked 5 kms. Then again she turned right and walked 
10 kms. Then she turned left and walked 10 kms. How 
many kms will Rama have to walk to reach the starting 
point? 
a) 20 km 
b) 15 km 
c) 25 km 
d) 5 km 
 
38.Anushka starts from point L and walks 10m towards 
north. She then turns to her right and walks 5m. Again 
she turns to her left and walks 10m and then she takes 
one more left turn of 5m up to the point M. How far is 
she from her starting point L? 
a) 20 metre 
b) 30 metre 

c) 5 metre 
d) 25 metre 
 
39. Shyam walked 6 metres facing towards East, then 
took a right turn and walked a distance of 9 metres. He 
then took a left turn and walked a distance of 6 metres. 
How far is he from the starting point ? 
a) 21 metres 
b) Can't be determined 
c) 15 metres 
d) 18 metres 
e) None of these 
 
40.  Rahul  is  facing  west.  Then  he  turned  right  three 
times and walked straight for a distance of 15 km, 15 
km, and 35 km respectively, How far is he from starting 
point ? 
a) 25 km 
b) 20 km 
c) 15 km 
d) 30 km 
 
41.  A  man  drives  his  car  50  km  towards  eastward 
direction.  He  turned  right  went  for  30  km,  then  he 
turned west and drive for 10km. How far is he from the 
starting point ? 
a) 60 km 
b) 20 km 
c) 50 km 
d) 100 km 
 
42.Starting from a point O, Mahesh walks a distance of 
5  km.  South,  then  turns  to  his  right and  walks  3  km. 
From  there  he  again  turns  right  and  walks  5  km.  He 
then turns to his left and walks 5 km. How far is he from 
the starting point? 
a) 8 km. 
b) 15 km 
c) 13 km. 
d) 5 km. 
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43.Ram and Shyam started walking in opposite 
directions from a point. Ram covered 7 km and Shyam 
covered  5km.  Ram  turned  right  and  walked  3  km. 
Shyam turned left and walked 3km. How far are they 
from each other? 
a) 10 km 
b) 14 km 
c) 8 km 
d) 12 km 
 
44.Two buses start from the opposite points of a main 
road, 150 kms apart. The first bus runs for 25 kms and 
takes  a  right  turn  and  then  runs  for  15  kms.  It  then 
turns left and runs for another 25 kms and takes the 
direction back to reach the main road. In the 
meantime, due to a minor breakdown, the other bus 
has run only 35 kms along the main road. What would 
be the distance between the two buses at this point ? 
a) 80 kms 
b) 75 kms 
c) 65 kms 
d) 85 kms 
 
45.  Sunil  walks  towards  the  East  from  point  A  turns 
right  at  point  B  and  walks  the  same  distance  as  he 
walked towards the East. He now turns left, walks the 
same distance again and finally makes a left turn and 
stops at point C after walking the same distance. The 
distance between A and C is how many times as that of 
A and B? 
a) Two 
b) Four 
c) Can't be determined 
d) Three 
e) None of these 
 
46. Sohan started from point X and travelled forward 8 
km up to point Y, then  turned  towards right and 
travelled  5km  up  to  point  Z,  then  turned  right  and 
travelled 7km up to point A and then turned towards 

right and travelled 5km up to B. What is the distance 
between points B and X? 
a) 2 km 
b) 4 km 
c) 1 km 
d) 3 km 
 
47.  A  person  starts  from  a  point  A  and  travels  3  km 
eastwards  to  B  and  then  turns  left  and  travels  thrice 
that distance to reach C. He again turns left and travels 
five  times  the  distance  he  covered  between  A  and B 
and  reaches  his  destination  D.  the  shortest  distance 
between the starting point and the destination is 
a) 15 km 
b) 18 km 
c) 12 km 
d) 16 km 
 
48. Kishore starts from a point and walks 6 km towards 
East and turning to his left he moves 3 km. After this, 
he again turns to his left and moves 6 km. Now, how 
far is he from his starting point ? 
a) 2 km 
b) 5 km 
c) 3 km 
d) 4 km 
 
49. Two buses start from the opposite point of a main 
road, 150 kms apart. The first bus runs for 25 kms and 
takes  a  right  turn  and  then  runs  for  15  kms.  It  then 
turns left and runs for another 25 kms and takes the 
direction back to reach the main road. In the 
meantime, due to a minor breakdown, the other bus 
has run only 35 kms along the main road. What would 
be the distance between the two buses at this point ? 
a) 75 kms 
b) 85 kms 
c) 65 kms 
d) 80 kms 
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50. Ricky after travelling for 5 km. took right turn and 
travelled 6 km. before taking left turn and then 
travelled for 3 km. find his final distance from home. 
a) 9 km 
b) 10 km 
c) 12 km 
d) 11 km 
e) None of these 
 
51.  Seeta  and  Ram  both  start  from  a  point  towards 
North.  Seeta  turns  to  left  after  walking  10  km.  Ram 
turns  to  right  after walking  the  same  distance.  Seeta 
waits  for  sometime  and  then  walks  another  5  km, 
whereas Ram walks only 3 km. They both then return 
to their respective South and walk 15 km forward. How 
far is Seeta from Ram ? 
a) 12 km 
b) 10 km 
c) 8 km 
d) 15 km 
 
52.Peter  walked  8  kms.  west  and  turned  right  and 
walked 3 kms. The again he turned right and walked 12 
kms. How far is he from the starting point ? 
a) 8 
b) 5 
c) 7 
d) 4 
 
53.A walks towards north 4 kms. and turns right and 
walks 5 kms. Then he turns towards south and walks 2 
kms. Again, he takes a turn towards west, walks 3kms 
and stops a while. Then, he further walks 2 kms to A. 
What is the distance of A from his starting point? 
a) 12 kms 
b) 4 kms 
c) 16 kms 
d) 2 kms 
 
 
 
 

54.Prem starts to school from his house and walks 400 
metres towards north, turns left and walks 100 metres, 
turns left and walks 200 metres, turns left and walks 
100 metres. How far he is away from his house? 
a) 300 metre 
b) 250 metre 
c) 100 metre 
d) 200 metre 
 
55.A man goes 10 km westward, then turns right and 
proceeds 4 km, then travels 10 km towards left, then 
travels 8 km towards left and finally goes 4 km 
northward. Calculate his distance from his initial place 
in the horizontal direction. 
a) 22 km 
b) 25 km 
c) 20 km 
d) 23 km 
 
56.A and B are standing at a distance of 20 km from 
each other on a straight East-West road. A and B start 
walking simultaneously eastwards and westwards 
respectively and both cover a distance of 5 km. Then A 
turns to his left and walks 10 km. B turns to his right 
and walks 10 km at the same speed. Then both turn to 
their  left  and  cover  a  distance  of  5  km  at  the  same 
speed. What will be the distance between them ? 
a) 30 km 
b) 25 km 
c) 10 km 
d) 20 km 
 
57.X walked 20 feet from A to B in the East direction. 
Then X turned to the right and walked 6 feet. Again X 
turned  to the  right  and walked  28  feet.  How  far  is X 
from A ? 
a) 9 
b) 27 
c) 28 
d) 10 
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58.Sujit travelled 15 km to the west, then turned right 
and travelled 8 km. He turned left and travelled 9 km, 
then turned back and travelled 13 km. Then he turned 
right and travelled 8 km. How far is he from the starting 
point? 
a) 9 km 
b) 7 km 
c) 17 km 
d) 11 km 
 
59.A  walks  10  metres  in  front  and  10  metres  to  the 
right. Then every time turning to his left, he walks 5, 15 
and 15 metres respectively. How far is he now from his 
starting point ? 
a) 15 metres 
b) 10 metres 
c) 5 metres 
d) 20 metres 
e) 23 metres 
 
60.Mrs. Kiran starts from Gandhi Square, Kolkata, 
drives her car towards west 6 kms and turning to her 
right she drives 4 kms, then again turns the car to her 
right and moves 6 kms. How far is she from the starting 
point ? 
a) 16 kms 
b) 8 kms 
c) 6 kms 
d) 4 kms 
 
61.A man starts his journey from a point 'X'. He goes in 
north direction for 5 km. Then he turns his left and goes 
2 km, then he turns his right twice and goes straight 3 
km  and  2  km  respectively.  How  far  is  he  from  his 
starting point? 
a) 8 km 
b) 6 km 
c) 7 km 
d) 9 km 
 
 

62.A  walks  10  metres  in  front  and  10  metres  to  the 
right. Then every time turning to his left, he walks 5, 15 
and 15 metres respectively. How far is he now from his 
starting point ? 
a) 20 metres 
b) 5 metres 
c) 10 metres 
d) 23 metres 
e) None of these 
 
63.Ajit, starting from a fixed point, goes 10m towards 
North and then after turning to his right he goes 10 m. 
Then he goes 5,10 and 10 metres after turning to his 
left each time. How far is he from his starting point ? 
a) 10 m 
b) 3 m 
c) 15 m 
d) 5 m 
 
64.Rana walks 20 metre straight in north direction and 
20 m to the right. Then every times turning to his left 
he walks 5, 25 and 25 metres respectively. How far is 
he from his starting point now? 
a) 20 metre 
b) 30 metre 
c) 5 metre 
d) 25 metre 
 
65.Ram  is  facing  north.  He  proceeded  straight  for  a 
distance of 10km, then he turned left and proceeded 
straight a distance of 15km. At last he turned left again 
and proceeded for another 10km. How far is he from 
the starting point ? 
a) 5km 
b) 15km 
c) 10km 
d) 12km 
 
66.A goes 7 km eastward, then turns right and 
proceeds 7 km, then travels 15 km towards left, then 
travels 12 km towards left and finally goes 5 km 
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northward. Calculate his distance from his initial place 
in the horizontal direction. 
a) 22 km. 
b) 25 km. 
c) 20 km. 
d) 23 km. 
 
67.Deepu started his journey from A and moves 2 km 
towards  South,  then  he  turns  right  and  moves  1  2 
kilometre. Again he takes a right turn and walks 2 km. 
Now he takes a left turn and walks 3 km more. How far 
he is from the starting point ? 
a) 2.5 km 
b) 1.5 km 
c) 3.5 km 
d) 7.5 km 
 
68.Morning time, Sohan goes towards sun for a 
distance  of  50m.  Then  he  turns  right  twice  and  goes 
straight  40m  and  20m  respectively.  At  last  he  turns 
once more right and goes straight for the distance of 
40m. How far is he now from his starting point ? 
a) 30 m 
b) 60 m 
c) 20 m 
d) 50 m 
 
69.A man walks 1 km towards East and then he turns 
to his south and walks 5 km. Again he turns to East and 
walks 2 km, after this he turns to North and walks 9 km. 
Now, how far is he from his starting point ? 
a) 5 km 
b) 3 km 
c) 4 km 
d) 7 km 
e) None of these 
 
70.A and B are standing at place “P”. They start moving 
in the opposite directions at the speed of 5 kmph and 
4 kmph respectively. What will be the distance 
between them after 3 hours? 
a) 21 kms. 

b) 27 kms 
c) 3 kms. 
d) 18 kms. 
 
71.Dinesh  travels  from  a  point  A  8  km  towards  B 
eastwards and turns right and walks 12 km to C, turns 
again  right  and  walks  4  km  to  a  point  D,  again  turns 
right and travels 8 km to E. From E he turns left and 
walks to F 4 km. Now how far is he from starting pont? 
a) 6 km 
b) 12 km 
c) 4 km 
d) 8 km 
 
72.Rajesh  starting  from  his  house,  goes  4  km.  in  the 
East, then he turns to his right and goes 3 km. What is 
his final distance from his house? 
a) 5. 5 km 
b) 4 km 
c) 5km 
d) 4.5 km 
e) None of these 
 
73.From  my  house  I  walked  5  km  towards  North.  I 
turned right and walked 3 km. Againt I went one km to 
the south. How far am I from my house? 
a) 6 km 
b) 5 km 
c) 7 km 
d) 4 km 
 
74.I walk 12 km to the North, then 10 kilometres East 
and then 12 km South. How far am I from the starting 
point ? 
a) 24 km 
b) 10 k 
c) 34 km 
d) 22 km 
 
75.Sudha travels 8 km to the South. Then she turns to 
the right and walks 4 km. Then again she turns to her 
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right and moves 8 km forward. How many km away is 
she from the starting point? 
a) 6 
b) 8 
c) 7 
d) 4 
 
76.A man leaves for his office from his house. He walks 
towards East. After moving a distance of 20 m, he turns 
South and walks 10 m. then he walks 35 m towards the 
West and further 5 m towards the North. He then turns 
towards  East  and  Walks  15  m.  What  is  the  straight 
distance (in Metres) between his initial and final 
positions? 
a) 5 
b) Cannot be determined 
c) 0 
d) 10 
 
77.Ram  went  20  metres  to  the  north  then  turned 
towards  east  and  walked  another  5  metres,  then  he 
turned towards right and covered 20 metres. How far 
is he from the starting point? 
a) 4 metre 
b) 6 metre 
c) 3 metre 
d) 5 metre 
 
78.Rama left home and walked 5 km southwards, 
turned  right  and  walked  2  km  and  turned  right  and 
walked  5  km  and  turned  left  and  walked  5  km.  How 
many  kilometres  will  she  have  to  walk  to  reach  her 
home straight? 
a) 7 
b) 15 
c) 5 
d) 17 
 
79.Radha  moves  towards  South-east  a  distance  of  7 
km, then she moves towards West and travels a 
distance of 14 m. From here, she moves towards North-
west a distance of 7 m and finally she moves a distance 

of 4 m towards East and stood at that point. How far is 
the starting point from where she stood? 
a) 4 m 
b) 11 m 
c) 3 m 
d) 10 m 
 
80.Prabhu  travelled  from  his  house  a  distance  of  20 
kms to his friend’s house. After some time he left his 
friends house and took a turn towards right and 
travelled  15  kms  to  reach  a  park.  After  resting  for  a 
while, he again started and turned to right and 
travelled 18 kms to reach a petrol pump. From there he 
again turned right and covered a distance of 15 kms. 
How many km more he has to travel to reach home? 
a) 18 kms 
b) 23 kms 
c) 2 kms 
d) 21 kms 
 
81. I go 5 km. cast then turn right and go 8 km. Then 
turn left and go 5 km. and then I turn left and I go 8 km. 
At what distance I am from the starting point? 
a) 10 km. 
b) 6 km 
c) 13 km. 
d) 7 km. 
 
82.I go 5 km East, then turn right and go 8 km. Then I 
turn left and go 5 km and then I turn left and go 8 km. 
At what distance am I from the starting point? 
a) 0 
b) 5 
c) 8 
d) 10 
 
83.X and Y start moving towards each other from two 
places 200 m apart. After walking 60 m, B turns left and 
goes 20 m, then he turns right and goes 40 m. He then 
turns right again and comes back to the road on which 
he had started walking. If A and B walk with the same 
speed, what is the distance between them now ? 
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a) 40 m 
b) 30 m 
c) 20 m 
d) 50 m 
 
84.Namita walks 14 metres towards west, then turns to 
her right and walks 14 metres and then turns to her left 
and walks 10 metres. Again turning to her left she walks 
14  metres.  What  is  the  shortest  distance  (in  metres) 
between her starting point and the present position? 
a) 24 
b) 38 
c) 10 
d) 28 
 
85.A child is looking for his father. He went 90 metres 
in  the  east  before  turning  to  his  right.  He  went  20 
metres before turning to his right again to look for his 
father at his uncle’s place 30 metres from this point. His 
father was not there. From here he went 100 metres to 
his north before meeting his father in a street. How far 
did the son meet his father from the starting point? 
a) 100 m 
b) 140 m 
c) 80 m 
d) 260 m 
 
86.Rimpy,  on  her  morning  walk,  starting  from  home 
she walks to the North for 250 m, then she turns to her 
right and travels 20 m and then she again turns to the 
right  and  drives  straight  another  250  m.  How  much 
distance has she now to cover to go back to her home? 
a) 4 m 
b) 25 m 
c) 20 m 
d) 40 m 
e) 30 m 
 
87.Ram walks 3 km towards East and takes a left turn 
and walks for one km before he turns left and walks 2 
km to take another left turn to walk for another one 
km. How many km is he away from his starting point? 

a) 2kms 
b) 4kms 
c) 1km 
d) 3kms 
 
88. A man walks 1 km towards East and then he turns 
to South and walks 5 km. Again he turns to East and 
walks 2 km, after this he turns to North and walks 9 km. 
Now, how far is he from his starting point? 
a) 4 km 
b) 7 km 
c) 3 km 
d) 5 km 
 
89.In the given figure. P is 300 km eastward of O and Q 
is 400 km north of O. R is exactly in the middle of Q and 
P. The distance between Q and R is 
a) 300 km 
b) 250 km 
c) 250 km 
d) 350 km 
 
90.A girl walks 30 metre towards south, then turning to 
her right she walks 30 metre, then turning to her left, 
she  walks  20  metre,  again  she  turns  to  her  left  and 
walks 30 metre. How far is she from her initial position? 
a) 30 metre 
b) 60 metre 
c) 20 metre 
d) 50 metre 
 
91.A child is looking for his father. He went 90 metres 
in  the  East  before  turning  to  his  right.  He  went  20 
metres before turning to his right again to look for his 
father at his uncle's place 30 metres from this point. His 
father was not there. From here he went 100 metres to 
the North before meeting his father in a street How far 
did the son meet his father from the starting point ? 
a) 140 metres 
b) 100 metres 
c) 80 metres 
d) 260 metres 
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92.Leela starts from a point and walks 1 km east and 
then turns left and walks 2 km and turns right and walks 
2 km again. She starts towards a point 2 km towards 
her right, from where again she walks 1 km left. How 
far is she from the starting point? 
a) 4 km 
b) 2 km 
c) 3 km 
d) 5 km 
 
93.Sham goes to his friend’s house that is straight 10 
km from his house. On his way back, he takes a right 
turn and walks 2 km and again takes a right turn and 
walks for 10 km before he takes a right turn again. How 
much distance is Sham still away from his house? 
a) 8 km 
b) 2 km 
c) 10 km 
d) 12 km 
 
94.A  mountaineer  starts  from  Camp  A  and  proceeds 
East to Camp B 4 km away. from camp B he proceeds 
to camp C, 5km to the south. from there,  he returns 
and proceeds 12km to camp 'D' via camps B and A. How 
far is he away from the camp A ? 
a) 6 km 
b) 12 km 
c) 3 km 
d) 5 km 
e) 8 km 
 
95.  Two  men  'A'  and  'B'  Starts  their'  Journey  from  a 
special point 'X'. 'A' walks 4 km in the direction of west. 
'B' walks 1 km in the direction of north then he turns 
left and walks straight 4 km. 'A' turns right and walks 2 
km straight. How far is now 'A' from 'B'? 
a) 2 km 
b) 4 km 
c) 1 km 
d) 3 km 
 

 
96.Rohan  walks  a  distance  of  3  kms  towards  North, 
then  turns  to  his  left  and  walks  for  2  kms.  He  again 
turns left and walks for 3 kms. At this point he turns to 
his  left  and  walks  for  3  kms.  How  far  is  he  from  the 
starting point? 
a) 3 kms 
b) 1 km 
c) 5 kms 
d) 2 kms 
 
97.Ganesh cycles towards SouthWest a distance of 8 m, 
then he moves towards East a distance of 20 m. From 
there he moves towards North-East a distance of 8 m, 
then he moves towards West a distance of 6 m. From 
there he moves towards North-East a distance of 2 m. 
Then  he moves  towards West  a  distance of  4  m  and 
then towards South-West 2 m and stops at that point. 
How far is he from the starting point? 
a) 10 m 
b) 6 m 
c) 12 m 
d) 8 m 
 
98.Satish starts from A and walks 2 km east upto B and 
turns southwards and walks 1 km upto C. At C he turns 
to east and walks 2 km upto D. He then turns 
northwards and walks 4 km to E. How far is he from his 
starting point? 
a) 4 km 
b) 6 km 
c) 3 km 
d) 5 km 
 
99.A  starts  walking  from  a  point P.  A  goes  westward 
and covers a distance of 4 km and then turns to his right 
and walks 3 km. How far A is from the starting point? 
a) 9 km 
b) 5 km 
c) 7 km 
d) 2 km 
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100.A man walks 7 km towards north before taking left 
turn and walks further 5 km. Then the takes left turn 
and walks 15 km. Finally he takes left turn again and 
walks 5 km. How much distance is he away from the 
starting point ? 
a) 12 km 
b) 22 km 
c) 8 km 
d) 15 km 
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